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11.

FgUTINT (Introduction)
£ 9% x T I9UT p(x) S5 x & I5F 3 <5 w3 § goue < w3 Afde I5|

The highest power of x in polynomial p(x) is called degree of polynomial.

It ggue € w3 1 et T

Degree of a linear polynomial is 1.
T w3t ggue < W3 2 Jet T
Degree of a quadratic polynomial is 2.
3 w3t ggue & w3z 3 gt I
Degree of a cubic polynomial is 3.
VY% FgUT ©F W3 0 Jet J|
Degree of a constant polynomial is O.
JHT FgUT T »BY AIS 4T JeT J |
The graph of a linear polynomial is a straight line.
T WISt ggUT T »BY U9TEST Je J |
The graph of a quadratic polynomial is a parabola.
o T WS FIUT p(x) = ax? + bx + ¢, i a # 0 T »dy Quat U89S I 7 a > 0 N3 Jof UTrae
ITa<0T
The graph of a quadratic polynomial p(x) = ax? + bx + ¢, a # 0 is an upward parabola if a > 0 and
downwards parabola if a < 0.
< W=t gguT Inft € fHedt 7 F0-T 2 TR3fex fAeat Jomit Ia |
A quadratic polynomial has two zeroes or atmost 2 real zeroes.
1 a, B € w3t gguT Inff fAea’ Is 37 € Wit ggueE p(x) = x% — (A3t = 143) x + (fAeat & I
If a, B are two zeroes of a quadratic polynomial then p(x) = x? — (sum of zeroes) x + (product of zeroes)
ie.p(x) =x?>—(a+p)x+ ap
7 a, f T WSt gUT p(x) = ax? + bx + ¢ it fAgT I 3
If a, B are zeroes of quadratic polynomial p(x) = ax? + bx + ¢ then
fAregt = 73 (sum of zeroes) = a + f = 2

a
Cc

fAEa’ € II& (Product of zeroes) = aff = -
EERZITIISLI

7 p(x) M3 g(x) JTT € FgUT T, T8 g(x) # 0 IT 3F wiAt FgUT q(x) »3 r(x) for 39 yus
&9 AdE I7 el p(x) = g(x) x q(x) +7(x)

g r(x) = 0 7 r(x) & w3 < g(x) S w3

If p(x) and g(x) are two polynomials where g(x) # 0 then we can get g(x) and r(x) such that p(x) =
g(x) X q(x) + r(x), where r(x) = 0 or degree of r(x) < degree of g(x)



Chapter 2 POLYNOMIALS
FauEhit

1. ¥ FguE T WS ..., J1 Degree of a linear polynomial is .......coeeeesvessunne
a) 0 b) 1 c) 2 d) 3
2. € WSt gouT T WS ............. J1 Degree of a quadratic polynomial is ..........eeeeeeeeeesene
a) 0 b) 1 c) 2 d) 3
3. 9t gguE p(x) = ax + bt fAeg .............. J1 Zero ofalinear polynomial p(x) = ax + b is
b a a b
a) Z b) Z C) —; d) —;
4. p(x)=ax+bT T .......... J1 Graphofp(x) = ax+ bis
a) HI® IuT Straight Line b) ST YT Curve
c) U9'8®" Parabloa d) o=t &It None
5. SgUT 3x—2 T T X —TT F wevvrvvrnnee fig 3 dcer J1 Graph of 3x — 2 intersects x — axis at
-2 2 -3 3
) (30) b (59) 9 (30) 4 (5.9)
6. € WS TIUT T Y ..cuneee. JeT J1 Graph of quadratic polynomial is............
a) HI® YT Straight Line b) <93 Curve
c) UJEHT Parabola d) H® ﬁé’g Origin
7. € widt OUT p(x) = ax? + bx + ¢ T »dy Qudt d9rEsT (L) T A
Graph of quadratic polynomial p(x) = ax? + bx + c is an upward parabola if
a) a>0 b) a<0 c) a=0 d a+0
8. ¥ Wil FOUT p(x) = ax? + bx + ¢ T WP i< YTEH (N) I A
Graph of a quadratic polynomial p(x) = ax? + bx + c is a downward parabola if
a) a>0 b)a<o0 cJa=0 da+0
9. € WSt gguT T ... T3 fAeat I51
A quadratic polynomial has ................ Real zeroes.
a) 2 b) W& WZ 2 atleast 2 c) FIU 2 atmost2 d) I &It none
10. € WSt IgUT p(x) = x% —ax + b Ko fAcgt Tv A7 =

a)

Sum of zeroes in a quadratic polynomial p(x) = x> —ax + b is

a b) —a <) g d) ‘7”



11.

a)

12.

15.

16.

T WSt ggUT p(x) = ax? + bx + ¢ &9 fAEIT &t I& =

Product of zeroes in a quadratic polynomial p(x) = ax? + bx + cis
b b) 2 ) =< d) =

a a ¢ a a

€ WSt ggUT U3T 9 A fASST T A3 —3 i3 JE6eS 5 I

Form a quadratic polynomial whose sum and product of zeroes are -3 and 5 respectively.
x*+3x-5 b) x> +3x+5 c) x> -3x+5 d) x2-3x-5

. € wiSt gguT usT &< A fAegat —2 »i3 3 I&|

Form a quadratic polynomial whose zeroes are -2 and 3.
x2+x-6 b) x?+x+6 c)x>—x—6 d) x2—x+6

.%uﬁmwaﬁﬁﬂﬁwﬁm?ﬁ?—ﬁ»@m%%

Form a quadratic polynomial whose sum and product of zeroes are —/5 and %

xz—x/§x+% b) x2+\/§x—% c) xz—\/gx—i d) x2+\/§x+§

Jot foftmit f38° fagar »iaw € wist ague St € ni&ar fRedt § TarBer 37

Which of the following graph represents two distinct zeroes of a quadratic polynomial?

e S A

Jot fofimit 38" fagar v € wist ggue St It TAsfea fies & Jz § Tam@er 37

Which of the following graph represents no real zeroes of a quadratic polynomial?

\M% .

- & 7 \:\’
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a)

18
a)

19

a)

20.

23.

a)

24,

a)

25.

26.

a)

27.

a)

. f&3 widy dhort fReat <t fars=t €A1 The number of zeroes in the given figure
3 b) 2 c 1 d) 4
. f&3 ndy it fAes™ € fa=st ©/1  The number of zeroes on the given figure
3 b) 2 o 1 d) 4 <
AHam3 pfarewtsgue T fAeg 36 3T 22 — (... .. )X+ (o . )
If a and B are zeroes of a quadratic polynomial then x — (......... )X+ (oo )
ap b) a—B,ap ) at+p ap d) af,a+p

€ Wit gguT 2x% — 3x + 4 ©nif fReST o7 A9 =
The sum of zeroes of a quadratic polynomial 2x? — 3x + 4 is
-2 b) 2 <) ‘73 d) g

. g wrst FIUT 4x?% + 9 it fRegt = #% The sum of zeroes of a quadratic polynomial 4x2 + 9 is
9 9 4
0 b) — Z C) Z d) —;

. € uSt ggUT 22 — 4x + 8 Tnit RS T IEEEH
The product of zeroes of a quadratic polynomial 2x? — 4x + 8 is
-2 b) 2 c) 4 d) —4

€ WSt ggUT 4x% + 8x € fHEI™ The zeroes of a quadratic polynomial 4x2 + 8x are
0,2 b) 0,—2 c) 0,4 d) 2,—4

€ WSt ggue 2x% — 3x dnif fAEdT The zeroes of a quadratic polynomial 2x2 — 3
0, b) 0, 0 0,3 d) 0,2
2 2 3 3

€ Wit gguT x2 — 3 Tt fAEST The zeroes of a quadratic polynomial x2 — 3
+V3 b) +3 ) V3 d —V3

€ WSt gguT 4x% — 9 it TSI The zeroes of a quadratic polynomial 4x% — 9
+2 b) +2 0 +3 d) +2
9 3 2 4

T W=t gguT UsT 59 faAet faeet v A —in@mi%
Form a quadratic polynomial whose sum and product of zeroes are —71 and i.
4x?—x+1 b) 4x* +x+1 c) 4x*+x—-1 d) 4x?—x-1



28. °HQUE 3x? - 2x+5 € fARedi  a M3 BT5 3T a+ B =
If a, B are zeroes of 3x* — 2x + 5thena + 8 =

a) - b) —= 0 : d) -3

29. 7 IgUT x% — 4x — 5 ¥t fAEST a ™3 B T6 3t af = Ifa, B are zeroes of x> — 4x — 5 then aff =

a) 4 b) 5 ) -5 d) —4

30. € WSt gguT U3T 9 fARdnt firedt = 43 0 w3 JE6e® V5 J1
Form a quadratic polynomial whose sum and product of zeroes are 0 and /5.

a) x%—+/5x b) x% +/5x c) x2 -5 d) x2+5



